Part 4 — Your graphs should look much like these:

5 Distance v. Time
Graph 1
40+
Linear Fit for: Data Set | Distance
y=mx+b
m (Slope):5.188 ftis
b (-Intercept): -0.7333 ft
Cormelation: 0.9970
RMSE: 1.284 1t
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Acceleration v. Mass
Graph 2 1004
Linear Fitfor: Data Set| Acceleratoin
y=mx+b
m(Slape): 4 560 misi/kg
b (Y-Intercept): 1.800 m/s*
Correlation: 0.9998
RMSE: 3.225 m/s®
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Part 4 — Your graphs should look much like these:



Mass v. Volume

Graph 3
Linear Fitfor: Data Set| Mass
y=mx+h
m{Slape): 6.918 gimL
b (Y-Intercept): 2.000 g
Correlation: 0.9988
RMSE: 2.199
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Pressure v. Area
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Graph 4
Linear Fit for: Data Set | Pressure
y=mx+h
m (Slope): 0.8400 psifin®
20+ b (Y-Intercept): -7 839E-015 psi
Correlation: 1.000
RMSE: 6.001E-015 psi
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Part 4 — Your graphs should look much like these:

Force v. Time

80
Graph 5
Linear Fitfor: Data Set | Force
y=mx+b
m (Slope): 2.070 Nis 3]
50 b (Y-Intercept): 1267 N
Correlation: 0.9674
RMSE: 6.957 N
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Jokes told v. # of Clowns
Graph 6
Linear Fitfor. Data Set | Jokes told
¥=mE+h
m (Slope):54.00
b (Y-Intercept): 0
2000+ Correlation: 1.000
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